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« Start: v [Version

$ root Start the ROOT

$ root —1 Does not show the ROOT banner

root [0] .q quit the ROOT

root [1] X <ﬁle_name> X name.cxx (execute) ROOT 5.34/09 (v5-34-09@v5-34-09, Jun 26 2013, 17:10:36 on linuxx8
root [2] .L <file name> .L name.cxx (load)

5
L++ S
I
8

$ root —] name.root  open file

. Creating ROOT
root [0] .Is look list S macros
I'OOt [1] treename_>Print() hSt all branches in thlS tree The name of the ROOT macro and the file name {without file extension) in which the macro is
saved must match.
root [2] treename->Draw(“branch)  draw branch

1. Create a new file in your preferred text editor.

root [3] treename->Scan() print message

2. Use the following general structure for the ROOT macro, preferably with a function that has
the same name as the file:

* Calculator

root [O] 1+1 your lines of C++ code
root [1] 2*(50+91)/12. code Line ends with ;

root [2] sqrt(3.)
root [3] TMath::Pi()

1. Save the file ROCT macro, using the macro name as file name: MacroName.C

Note

Its not necessary to #include anything in the ROOT macros. Everything in the include paths
is automatically included. Note that you can type .1 in the ROOT prompt to see the include
paths, and .1 [path] to add an extra path.


https://root.cern/manual/first_steps_with_root/

Sample Program O ¢aMzLkx3

of Science and Technology of China

You can find sample program of next few pages in

/scratchfs/bes/wwangbo/draw/draw/ (ihepc)
/ustcfs/BES3User/2021/bwang/draw/ (ustc)

draw1.cxx and draw2.cxx are used to draw figures
opetree.cxx is used to modify tree in the root file
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draw1.cxXx

:T#@iﬁﬁ@

drawl(){

MAREL
K KrootX

TFile *File = new TFile( ; /fL'I:

gStyle->SetOptStat(');

TTree *Tree = (TTree*)File->Get(

TFile *Filel
TTree *Treel
TFile *File2 new TFile(
TTree *Tree2

(TTree*)File2->Get( ; ﬁﬁ*ﬁﬁg
TFile *File3 new TFile( :

TTree *Tree3 = (TTree*)File3->Get( : tree

new TFile(

(TTree*)Filel->Get ( : ﬁ)\rootqj

TEUE CUt =

bln( . ] 19{ ) api3); ﬁﬂ@—‘/l\,%ﬂ%]
T?trlhg val = * s Ej‘j‘g, binj:Ef
TH1F *h = new THlF{ . : b?n, lo, up); E‘JIEEIZ(:I‘E‘]&’
TH1F *H[ ] | - R IO,UPTEI‘E(]IE%J:
for{ i=.: 169, ;i4+) -FISE

{
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draw1.cxXx
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THIF *H[T;

for( i= : i< ;1++)
{
H[i] = new TH1F(Form(

'T'Canvas *c = new TCanvas( ; %Tre.e_.l:l:lﬁﬁ_.
I mrhoE £ B Afi
E

Tree->Draw{vél+ ,cut);
Tree1->Draw{val+ Jeut);

Tree2->Draw(val+ ;Eut) ;
Tree3->Draw(val+ LEHEY

->SetYTitle( ) -
->SetXTitle( )3

->GetYax1s{) >SetLabelSJ.ze{ : ‘&EE@E{JE\‘
->§etYagls_{) >SetRangeUser{ . ; 'fZIiQEl—'_P, thﬁn
->Se‘tL%neWid‘th{ )i . : i 2 C1 g%ﬂg*ﬂgﬂsl’ ):lfl:
Sy e Isca IR/, RS

->SetMarkerSize( ) ; ' R %g%Z%E@

[]

[ ']1->SetMarkerStyle( );

[ ' 1->SetLineWidth( );

[ '1->Scale( *h->GetEntries()/H[ ]->GetEntries());
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WEERE —RARMEAR

THStack *hs = new THStack(
H[ ]->SetLineColor(kOrange);
H[ ]->SetLineWidth( );

H[ ]->SetFillColor(kOrange);
H[ ]->SetFillStyle( )iz

H[ ]->SetLineColor(kBlue):
H[ ]->SetLineWidth( );

H[ ]->SetFillColor(kBlue);
H[ ]->SetFillStyle( )l
hs->Add(H[ ]);

hs->Add(H[ ]);

h->Draw(
hs->Draw(
H[ ]->Draw(
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draw1.cxXx

TLegend *leg = new TLegend( ; . :

leg->SetFillColor(");
leg->SetNColumns( ) ;

ieQ-}SefBorderSize{ ):

leg->AddEntry(h, ; ):

ieg-}AddEntfy(H[ 1 : )i
leg->AddEntry(H[ ], ; ¥
leg->AddEntry(H[ ], : ¥:

leg->Draw();
TArraw *arruw = new TArrow(

arrow- }SetFlllColor{ i
arrow->SetFi1llStyle( Y
arrow->SetLineColor(kGreen+ );
arrow->SetLineWidth( );

arrow->Draw() ;

TPaveText *pt = new TPaveText( : ;
pt->SetFillColor(10);
pt->SetBorderSize( );
pt->SetTextAlign( );
TString parl =
TString par2 =
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draw2.cxX
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TChain *chain = new TChain(
chain->Add(
chain->Add(

ml,m2,m3,m4,chisq;

1n->SetBranchAddress( ,&ml) ;

1n->SetBranchAddress( ,&chisq);
->SetBranchAddress ( ,&m2) ;
->SetBranchAddress ( ,&m3) ;
->SetBranchAddress ( ,&m4) ;

i=0; i<chain->GetEntries();

chain- >GetEntry{1}
ch sig->Fill(ml);

i="; i<Treel->GetEntries();

Treel->GetEntry(1);
data-=Fill(m2);

i="; i<Tree2->GetEntries();

Tree2->GetEntry(1);
backl->Fill(m3);

i="; i<Tree3->GetEntries();

Tree3->GetEntry(1);
back2->Fill(m4);
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KB AMERY, FTHE—#r (WAESdrawt.cxxk LD

TCanvas *c = new TCanvas(
c->Divide( , );
c->ed(1);

c->cd( );
x[
for( . b
x[1]
y[i] = sin(x[1])/x[1]+

}

TGraph *gr = new TGraph( 0,x,y);

gr->SetLineWidth( );
gr-=SetLineColor( );
gr->SetMarkerStyle( );
gr->SetMarkerColor( );

gr->GetYaxis()->SetRangeUser( -

gr->Draw( )z
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draw2.cxX
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TF1 *f = new TF1(
f->SetLineWidth( );
f->SetLineColor( );
f->Draw( £

\J
__”/\
TFl1 *T fit = new TF1{ : %ﬁ‘%x

f_fit->SetLineWidth( ); PR B 2 1| H
f fit->SetLineColor( );
i B

f _fit->SetParameter(0,1); ]:
gr->Fit( ¥z
f fit->Draw( |

S5 DI 1 2 1 FRT Ry
%ﬁ%&)ﬁ 2 24T




|l N \ ‘ » ‘
draw2.cxx ¥R AeLa%g
| University of Science and Technology of China

Graph

a8 F 1.2
?iil]ﬂ— B
b [ ~signal ¢ data
§ backi @baokE
400
300
200
B bl El;ﬂ';i’-}'."i +
. L 4 S
| © N AT,
oL
<2 ‘*'
U_" I R T T T A R M T (NN N S (NN SN ST W M
0 0.5 1 1.5 2 25 2 4 4] 8 10



opelree.cxx
BB Hitree

TF1ile
TTree
TTree
TTree
TTree
TTree

TTree
TTree
TTree
TTree
TTree
TTree

*1nfile =
*1ntreel
*1ntree2
*1ntree3
*1ntreed
*1ntreeb
*1ntreeb
*1ntree7

*intree8 =
*1ntree9 =

*1ntreelO
¥1ntreell

new TFile(
(TTree*)infile->Get(
(TTree*)infile->Get(
(TTree*)infile->Get(
(TTree*)infile->Get(
(TTree*)infile->Get(
(TTree*)infile->Get(
(TTree*)infile->Get(
(TTree*)infile->Get(
(TTree*)infile->Get(
(TTree*)infile->Get(
(TTree*)infile->Get(
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opelree.cxx
| ,/Tn A E#RE njdbranch #RiicutskfF

chlsq, mrh®_1, mrhp_1, mrhm_1;
intree9->SetBranchAddress( ,&mrh0_1);
ihtree9->5etBranchAddress{ ,&mrhp_1);
intree9->SetBranchAddress( ,&chisq) ;

intree9->SetBranchStatus( :0);

TFile *newfile = new TFile( ;
TTree *newfitS5c = intree9->CloneTree( );

sum;
TBranch *Brl = newfit5c->Branch( ,&sum) ;
for( i=; 1<intree9->GetEntries(); 1i++)

intree9->GetEntry(1i);

sum = mrhO_l+mrhp_ 1;

if(chisg< ") newfitSc->Fill();
¥

newfit5c->Print();
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opeTree.cxx

intreel-}SetBranchStatus{ W -

intreel->SetBranchStatus( . 4

TTree *newtreel = intreel-}CluneTrEE{];

newtreel->Print();
TTree *neﬁfitdc = 1intree8->CopyTree( : “J\le]cut%’ﬁ:

newfitdc->Print();

newfile->Write(); PN
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[wangy1jing@lxslc705 ~/draw]$ root -1 test.root

“[[Aroot [0]

Attaching file test.root as fileO...

root [1] .1ls

TF1le** test.root

TF1ile* test.root
KEY: TTree fi1it5c;1 ks N-Tuple example
KEY: TTree vxyz;l ks N-Tuple example
KEY: TTree fitdc;1 ks N-Tuple example

root [2]
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chi2
htemp
- Entries 4542
- : Mean 10.83
200 RMS 10.19
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